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- Any work necessary to arrive at an answer must be shown on the ex-
amination paper. Marks will not be given for final answers that are not
supported by appropriate work.

- Clearly indicate your final answer to each question either by underlining
it or circling it. If multiple answers are shown then no marks will be

awarded.
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1. [Ipt] What is the elementary matrix corresponding the row operation
p1 <> p3 applied on matrices with 3 rows? What is its determinant?

E- ] QL@PCE)= ~| :
l ——

2. [Ipt] What is the elementary matrix corresponding the row operation
p3 : X3 applied on matrices with 3 rows? What is its determinant?

!
E-= ( ; ) det(E) ~3
b
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3. [Ipt] What is the elementary matrix corresponding the row operation
1 +7ps3 applied on matrices with 3 rows? What is its determinant?

7
E=[ | det(E) = | .
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4. [2pt] Find a 4 x 4 matrix A such that det(A) = 7 and every entry of A
is nonzero. (Explain why your answer is correct.)
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5. Let
11 1 1 1 7 10 0 O T |
12 4 8 16 1 2 4 8 16
A=113 9 27 8 | andB=|13 9 27 &1
1 5 25 125 625 1 5 25 125 625
1 6 36 216 1296 1 6 36 216 1296

(a) [1pt] Find det(A).
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(b) [2pt] Find the last row of A™1.
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6. Show that det(A) = det(AT") for any square matrix A.
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7. [bpt] BRIEL 1 B — ARG A8 LRy M ANBAEE
179 A48 (determinant)
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(If Chinese is not your native language, you may use English or the
language that you prefer.)
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8. [extra 2pt] Let A be the 9 x 9 matrix
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Find det(A).
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